

# Republic of the Philippines Province of Benguet

La Trinidad









#### **INVITATION TO BID**

1. The Bids and Awards Committee (Drugs, Medicine, Medical Supplies and Equipment) Through its Regular Fund intends to apply the hereunder amount being the Approved Budget for the Contract (ABC) to payment for the hospital projects:

Item No.	Projects	Approved Budget for the Contract (ABC)	Cost of Bidding Documents
1	PURCHASE OF LABORATORY		
	SUPPLIES	Php 1,128,616.50	Php 5,000.00
	(PR NO. 2022-02-0467)	_	_

Bids received in excess of the ABC shall be automatically rejected during bid opening.

- 2. The BAC (DMMSE) now invites bids for the above stated projects. Delivery will be 14 days for upon receipt of Notice to Proceed. Bidders should have completed within three (3) years from the date of submission and receipt of bids a contract similar to the Project. The description of an eligible bidder is contained in the Bidding Documents particularly in Section II. Instruction to Bidders.
- 3. Bidding will be conducted through open competitive bidding procedures using a nondiscretionary "pass/fail" criterion as specified in the Implementing Rules and Regulations (IRR) of Republic Act (RA) 9184, otherwise known as the "Government Procurement Reform Act". Bidding is restricted to Filipino citizens/sole proprietorships, partnerships, or organizations with at least sixty percent (60%) interest or outstanding capital stock belonging to citizens of the Philippines, and to citizens or organizations of a country the laws or regulations of which grant similar rights or privileges to Filipino citizens, pursuant to RA 5183.
- 4. Interested bidders may obtain further information from the BAC (Drugs, Medicines, Medical Supplies and Equipment) and inspect the Bidding Documents from Monday to Friday from 8:00 a.m. - 4:00 p.m.
- 5. A complete set of Bidding Documents in the form of Electronic Copy CD (Compact Disk) may be purchased by Interested Bidders starting March 2, 2022 - March 15, 2022 8:00 a.m. - 5:00 pm and upon payment of a nonrefundable fee for the Bidding Documents as shown above.
- 6. The BAC will hold a Pre-Bid Conference on March 2, 2022, 9:00 a.m. at the BeGH staff dining and/or through video conferencing via Zoom Meeting which shall be open to prospective bidders.

PRE-BID CONFERENCE

**Meeting Information: Meeting ID: 934 64027984** Password: BACHEALTH

7. Bids must be delivered to the Bids and Awards Committee on or before March 16, 2022, 8:00 AM Philippine Standard Time (PST). All bids must be accompanied by bid security in any of the acceptable forms and in the amount stated in the ITB clause 18.

### Late bids shall not be accepted.

The bidder shall submit a Bid Securing Declaration

Or

Any form of Bid Security, in an amount not less than the required percentage of the ABC in accordance with the following schedule:

Form of Bid Security	Amount of Bid Security (Not less than the required percentage of the ABC)
(a) Cash or cashier's/manager's check issued by a Universal or Commercial Bank.	
(b) Bank draft/guarantee or irrevocable letter of credit issued by a Universal or Commercial Bank: Provided, however, that it shall be confirmed or authenticated by a Universal or Commercial Bank, if issued by a foreign bank.	Two percent (2%)
(c) Surety bond callable upon demand issued by a surety or insurance company duly certified by the Insurance Commission as authorized to issue such security.	Five percent (5%)

8. Bid opening shall be on March 16, 2022, 9:00 a.m. at the Staff Dining, Benguet General Hospital, La Trinidad, Benguet, Philippines and/or via Zoom Meeting. Bids will be opened in the presence of the Bidders' representatives who choose to attend at the address as stated. If to attend the Opening of Bids physically, no more than two (2) representatives shall be allowed.

Meeting Information: Meeting ID: 934 64027984 Password: BACHEALTH

- 9. The BAC (DMMSE) reserves the right to accept or reject any bid, to annul the bidding process, and to reject all bids at any time prior to contract award, without thereby incurring any liability to affected bidder or bidders.
- 10. For further information, please refer to:

### FRIEDA G. CHINANGLAS

Head, BAC Secretariat

Tel No.: 074-422-4722 to 24 local 1102

Fax No.: 074-422-5506

Email adds. begh.bac@benguet.gov.ph

## Places of posting:

- BeGH BAC Bulletin Board
- Provincial Capitol Bulletin Board
- La Trinidad Municipal Bulletin Board
- Baguio City Hall Bulletin Board
- Baguio General Hospital BAC Bulletin Board
- **PHILGEPS**
- www.benguet.gov.ph
- www.facebook.com/beghhealthcareforall

Approved by:

ATTY-BRIAN CRISPIN
BAC Chairman

## PRICE LIST

Item No.	Unit of measureme nt	TECHNICAL SPECIFICATIONS	QTY	ABC per Unit Cost	Total Cost (ABC)
		LABORATORY SUPPLIES		4	
1	bot	Acid, Acetic 3%, 1 liter	1	1,100.00	1,100.0
2	box	Applicator Stick, Unsterile, without cotton, 6", 1000's/box	2	715.00	1,430.00
3	bot	Blood Chemistry, Abnormal control, 5ml (For Tecom chemistry analyzer)	6	11,660.00	69,960.00
4	bot	Blood Chemistry, Normal control, 5ml (For Tecom chemistry analyzer)	6	11,660.00	69,960.00
5	set	Blood Chemistry, Reagent, BUA (For Tecom chemistry analyzer)	7	4,400.00	30,800.00
6	set	Blood Chemistry, Reagent, BUN (For Tecom chemistry analyzer)	7	4,400.00	30,800.0
7	set	Blood Chemistry, Reagent, Cholesterol (For Tecom chemistry analyzer)	7	4,400.00	30,800.0
8	set	Blood Chemistry, Reagent, Creatinine (For Tecom chemistry analyzer)	7	15,400.00	107,800.00
9	set	Blood Chemistry, Reagent, Glucose (For Tecom chemistry analyzer)	7	3,850.00	26,950.00
10	set	Blood Chemistry, Reagent, HDL (For Tecom chemistry analyzer)	7	20,020.00	140,140.00
11	set	Blood Chemistry, Reagent, Trigylceride (For Tecom chemistry analyzer)	7	9,900.00	69,300.00
12	box	Blood Lancet, Sterile, Flat steel flake, 200's/box	4	605.00	2,420.0
13	box	Blood Lancet, Twist top, G21, Sterile, 200's/box (Needle gauge must be visually indicated on the packaging or box)	2	335.50	671.0
14	plate	Capillary Microhematocrit tubes Sealer	5	220.00	1,100.0
15	tube	Capillary Microhematocrit tubes, Na- heparinized, 100's	8	220.00	1,760.0
16	pc	Dengue duo test kit IgG/IgM/ with NS1 antigen with sufficient buffer equal to the total quantity of kit	100	275.00	27,500.0
17	box	Fecal Occult Blood Test Kit, Guaiac Methodology (Two sample test slides with on-slide positive and negative monitors containing guaiac impregnated paper), 100's	1	4,950.00	4,950.00
18	box	Glass slides, Microscope, clear 72's/box	6	110.00	660.0
19	box	Glass slides, Microscope, clear frosted end 72's box	6	110.00	660.0
20	bot	Hematologic Analyzer, Cleanser (Compatible with Dymind analyzer)	2	5,043.50	10,087.0
21	bot	Hematologic Analyzer, Control( Normal,low,high) (Compatible with Dymind analyzer)	3	16830	50,490.0
22	bot	Hematologic Analyzer, Diluent, 20 liters (Compatible with Dymind analyzer)	8	16,830.00	134,640.0
23	bot	Hematologic Analyzer,Lyse 1 (Compatible with Dymind analyzer)	7	13,750.00	96,250.0
24	bot	Hematologic Analyzer,Lyse 2 (Compatible with Dymind analyzer)	7	12,100.00	84,700.0
25	set	Hematologic stain set, Quality controlled staining set for differential count, 4 x 250ml set	1	2,750.00	2,750.0
26	рс	Hemoglucotest strips, with reader for every 50pcs strips	200	27.50	5,500.0
27	pc	Hepatitis B Screening Test, HBsAg, Cassette type, with sufficient buffer equal to the total quantity of kits (SACCL Accredited or must be listed under NRL-SLH/SACCL website evaluated kits as persuant to DOH AO:2015-0005)	30	143.00	4,290.0
28	bot	Hydrochloric Acid, N/10 (0.1N), 500ml	2	220.00	440.0
29	pad	Lens Paper, booklet, 100's/pad	3	99.00	297.0
30	bot	Lugol's Iodine, 500ml	2	990.00	1,980.0

Item No.	Unit of measureme nt	TECHNICAL SPECIFICATIONS	QTY	ABC per Unit Cost	Total Cost (ABC)
31	pack	Micropipette tips for 100-1000 ul pipette, Blue tips, 100's	3	550.00	1,650.00
32	pack	Micropipette tips for 10-100 ul pipette, Yellow tips 100s	3	550.00	1,650.00
33	box	Microscope Cover slip, clear, 22 x 22 mm, 200's/box	2	192.50	385.00
34	bot	Normal Saline solution, 0.85%, 1li	1	253.00	253.00
35	bot	Oil Immersion, Microscope, Type A cargille, 30ml	1	3,300.00	3,300.00
36	pack	Parafilm M, 4" x 125ft roll	11	3,564.00	3,564.0
37	bot	Platelet Count Reagent, 1 liter	1	1,100.00	1,100.0
38	bot	Potassium hydroxide reagent (KOH), 1 liter/bot	2	550.00	1,100.0
39	рс	Pregnancy test in urine / serum HCG test kits with sufficient buffer equal to the total quantity of kits	100	105.60	10,560.00
40	рс	Rapid test kits, for SARS COV 2 Antigen (FDA approved and RITM recommended)	100	473.00	47,300.00
41	рс	Salmonella Typhi Rapid Test Kit, IgG/IgM with sufficient buffer equal to the total quantity of kits	50	220.00	11,000.00
42	pc	Syphilis Test Kit, Cassette Type, with sufficient buffer equal to the total quantity of kits (SACCL Accredited or must be listed under NRL-SLH/SACCL website evaluated kits as persuant to DOH AO:2015-0005)	84	77.00	6,468.00
43	рс	Test Tubes, 13mm x 75mm, glass	10	275.00	2,750.00
44	pc	Test Tube Holder, Metal wire, Stainless, Hold tubes up to 30mm diameter	1	33.00	33.00
45	рс	Troponin 1	15	176.00	2,640.0
46	set	Typing Sera, ABO, 10ml (Must be the same brand and expiration date and at least with 2 years expiration date)	2	599.50	1,199.0
47	vial	Typing Sera, Anti D, 10ml	2	583.00	1,166.0
48	tube	Urine strips, 10 parameters, 100 strips/tube (Highly visible color charts and numeric results to ensure accurate visual reading)	8	550.00	4,400.0
49	pack	Vacuum tubes (SST) Serum Separating Tube, Gel and Clot Activator Additive, Yellow cap, 4ml 100's/pack	6	660.00	3,960.0
50	pack	Vacuum tubes with anticoagulant, EDTA-K3, Violet cap, 0.5ml,100's/pack	6	638.00	3,828.0
51	pack	Vacuum tubes with anticoagulant, EDTA-K2/K3, Violet cap, 3-4ml,100's/pack	6	572.00	3,432.0
52	gal	Water, Distilled, 6 liter (For pharmaceutical / laboratory use not for drinking or injection)	10	330.00	3,300.00
53	pc	WBC counting chamber, Glass, Hemocytometer	1	2,293.50	2,293.5
54	bot	WBC diluting fluid,1 liter	2	550.00	1,100.0
TOTA	\L				1,128,616.50